A AL R R W

AFLH I 5577

YRk 30 4% 3 A 1 H 9 W 35 4y

T = 4 HE S8 5 (R 1E B ) #ifE T8

£ Ar A PREATRT - HE3HEI6 15 H122
WOl ¥ #E

K 4 ProcER st RFEIRE Bl S5
2K & 12,636,000 H

H Yk 30 4 3 H 5 H
T 1

= Fpk 30 &£ 3 H 31 H
T %= % mr 25 T AR IR T 26 3 Hi B 1l py

ML V=0.7Tm

WrimfEE T V=0.77Tm
T F M =

HEAR AT HE T L=25.0m

AL INE #%

S E R TFEHR

T DR

A AR TR AR

N

o

BRE L EREREETHY, LL O 23
B GRIEE T3 AR THBIRBRGESE THHZ

R4S (TR (DB DD EARFEF DI | oo e 5 I%m%]\ﬂ

?%bn%%%éé O+ ARARE T EABRICEEGESN TN, 1E
HT, RENETTOEZE THHL,

SEINPN &




T E A A% (B 44) 11,850,000 M fie A PR Al B (B k0D

Ve AL A A% (B 45) 11,700,000 H 10,326,068 H

AR I/N AL & s (H-Bitk)

T
* # fﬁﬁ 1 [ H o [F A 3 | A

1 B O 12,000,000 11,700,000 ﬁ

-3

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30




